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GMIN = le-18

VIN 0 SIN( 0 50n 10k) AC 50n
VIN VIN2 30k
VIN2 0 16n
VIN2 0 16m

VCHOP 0 V = (V(VIN) +V(VIN2)*50)*100000

VCHOP INN 100k
INN OuT 200u

oUT 0 V = -100000*V(INN)
=2
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db(vchop) db(out)
db(mag(out/vin))
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The full chopping circuit passes the desired signal
through unchanged while it modulates all the undesirable
signal like offset and 1/f noise around the chopping
frequency. This can be semi-modeled in the circuit below.
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Now if the output of the full chopping circuit gets

fed into a subHertz integrator block, then it effectively
becomes a low frequency Op Amp.
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In this case the chopper frequency is being set
to 10Khz while the unity gain cross is being
set to 1lkHZ.
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While it may be prudent to prehaps raise the
chopping frequency, this example can show
some relationships.



